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Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Total Marks : 50
(Y= mark for each question) Total Questions : 100

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-48 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet/OMR Answer-Sheet.

IMPORTANT INSTRUCTIONS

+ Do not open the Question Booklet before 10:00 a.m. in the Examination Hall.

+ Read the questions carefully before marking the right answer with blue/black ballpoint pen only
in the appropriate circle of the OMR Answer-Sheet, as no extra OMR Answer-Sheet will be
provided for any mistake or correction.

4+ There is no negative marking for any wrong answer.

4+ In cases where candidate selects more than one option of a question, the question will not be
evaluated.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her
Roll No., Question Booklet Serial No., Question Booklet Code in the space provided in the OMR
Answer-Sheet by shading and by writing in alphabet and numerical on the front page as well as
on the back page. Otherwise the OMR Answer-Sheet will not be evaluated.

+ Candidates will have to sign twice, once in the Photo Attendance Sheet presented by the Invigilator
on duty after taking their seats in the Examination Hall, and the other, at the time of handing over
their OMR Answer-Sheet to the Invigilator after the completion of the Examination. Cases where a
candidate has not signed while submitting the OMR Answer-Sheet, he/she shall be treated as absent.

4+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

4+ The candidate should make sure that the Question Booklet No. and corresponding Question
Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her. For example, in
filling up the Question Booklet Code, if the candidate gets Question Booklet Code ‘A’, then
he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet.

4 Candidate should do all the necessary rough work on the Question Booklet in the space provided.
Rough work should not be done on the OMR Answer-Sheet or on any other paper. If any rough work or
overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

4+ In case of any discrepancy or confusion in the medium/version of the questions, the English
version will be treated as the authentic version.
4+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like mobile phone,
calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.
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1. T o (22541 o'=T S61), 2024 (FIee o© FiE=e 2

(A) T R (B) T R

(C) T (D) To “ffefar (vt ey
1. T SRE (2200 (oD ~[%1F), 2024 (F FS FCARCE 2

(A) T T (B) I 7

(C) TS (D) ©. “ffefa (7R T
1. @R Green Oscar (Whitley Gold ST-T), 2024 @I ATSEEHM?

(4) T TR (B) T

(C) peomgfet (D) <o gfotar ot s
1. Who received the Green Oscar (Whitley Gold Award), 20247

(A) Raman Sukumar (B) Brindha Devi

(C) Krishnamoorthy (D) Dr. Purnima Devi Barman

2. (P ER PRy 7[R eferawe, 2024 2 FEMRe 2

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank
2. @ =EM By 28 s, 2024 27 Fafe ?

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank

2. & MYAT Child Nutrition Report, 2024 Tl 1€l ®IEEE!?
(A) WHO (B) UNICEF
(C) UNDP (D) World Bank

2. Which organization released the Child Nutrition Report, 2024?
(A) WHO (B) UNICEF
(C) UNDP (D) World Bank

3. 4 51am FEHTO! I, 20247 WO 180% (7 o0 ©Req Zl 1 2
(A) 159 (B) 152 (C) 150 (D) 161

3. 4 1am FETSl oI, 2024 SERAN 18016 (R WK ORISR B T 2
(A) 159 (B) 152 (©) 150 (D) 161

g
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3. World Press Freedom Index, 2024 T, 180 BEThR TG WRAT HIfe=m d1?
(A) 159 (B) 152 (C) 150 (D) 161

3. In the World Press Freedom Index, 2024, what is India’s rank among 180 countries?

(A) 159 (B) 152 (C) 150 (D) 161

4, ‘GO (F0R Aol W (R [T T4 =7 2
(A) #€FT9 (B) «&@5_ 7
(C) =TT 5 (D) <959 3

4. TIOR FAF ScbeTel WA FCE AT 91 =7 2

(A) =CeF9 9 (B) «ceFd 7
(C) =C=Fa 5 (D) =ceFd 3
4. ‘HR | | @l HTec B ?
(A) 9 TEER (B) 7 &R
(C) 5 &R (D) 3 &R
4. When is ‘National Cancer Awareness Day’ observed?
(A) November 9 (B) November 7
(C) November 5 (D) November 3

5. 2fo q=cq ‘(EME T’ (Jonbeel Mela) (S fewle Sqfe 23 2

(A) wEsis (B) <
(C) foar (D) (ST
5. i q=e “CEFET T’ (I (ST SR 2 2
(4) wfEsie (B) =
(C) foam (D) CoMeTElG
5. EEWE S BT (Jonbeel Mela) @t #1el R gg=m sman?
(A) wfeme (B) STeRE
() f= (D) TETER

5. In which of the following districts is the ‘Jonbeel Mela’ held every year?
(A) Morigaon (B) Baksa
(C) Chirang (D) Golaghat

OE|
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6. ‘el it (oA TH@IeR 91 77 2

(A) 25 SRS (B) 21 (To

(C) 17 wIgar® (D) 14 TEFT©
6. ‘ME v’ 3@ TP 23 2

(A) 25¢1 SRR (B) 219

(C) 17% &Il (D) 143 T
6. ‘fyrcdt fesw =t Areet wiferm S ?

(A) 25 SFaRETE (B) 21 W™

(C) 17 STarEE (D) 14 T&w=Td
6. ‘Silpi Divas’ is celebrated on

(A) 25th January (B) 21st May

(C) 17th January (D) 14th November

7. ‘P JIEHF AR (B T SRS ?

(A) @TE0e (B) PRPTIoRS

(C) wies (D) @B
7. P AMfeTS AR’ (@I 4w 2

A) @FERIbCe (B) fR=eTsica

(C) wie-g (D) =2CE
7. T RS SAYAET A1 HeAd &7

(A) TETETR (B) TremmR

(C) = (D) SErR

7. Where is the ‘Assam State Museum’ located?
(A) Guwahati (B) Sivasagar
(C) Nagaon (D) Jorhat

8. ASTC-3 9¢ 3’7

(A) =N (BG (G FCofcame (B) N (BG (Gl o1 Gl Fimel

(C) SI=IN (B G715 Feeficava (D) =i (8% (Gree weeficane
8. ASTC-«3 I2f (el

(A) TP (B (GiR FCoficae (B) SIPTN (55 (GFCAAS FRre

(C) ST (55 GRTCATD o (D) ST (55 GIceat I
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8. ASTC T afifor et
(A) TEm V2 2fE FEH (B) ATET W2 o @St hiba
(C) 3THM W2 THIS HIRET (D) 3T W2 oA FIEH
8. ASTC stands for
(A) Assam State Trading Corporation (B) Assam State Technology Commission
(C) Assam State Transport Corporation (D) Assam State Travel Corporation
9. IR @M @bl FIfE o 7=w 2
(&) st B) feform
(©) fFr (D) G’ cem
9. iy Sfafe @i g ammy 7 2
(&) st (B) ffemm
(C) o (D) TRCGICE
9. TEMEM o« HHHAT SNSEAITE T4 (inert gas) AST?
(A) mH (B) Teferam
(© (D) EZwA
9. Which of the following is not an inert gas?
(A) Argon (B) Helium
(C) Neon (D) Nitrogen
10. 1894 ve SPTE I3 [AC@2 (1 9129 4B (e ?
(A) o=7F (B) e
(C) = (D) o
10. 1894 CH SPTCNE F9F w2 (F FIeel Ao 2eafes 2
(A) =" (B) W
(C) “NFHD (D) cERRIgR
10. 1894 WM STEMH e SRF@MRT S81 STaH ¢
(A) TER (B) ==<Tg
(C) ez (D) efpmgfer
10. The Peasant Uprising of Assam in 1894 took place at
(A) Gohpur (B) Yandaboo
(C) Patharughat (D) Dhekiajuli
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11. 7F¥9 5. fb. fb. T20 fPelel, 2024T @ @ (FAT 7[THE TS Fa2e ?
(A) R T (B) @fed @'
(C) wwiere TR (D) B[ qem1s 727
11. ~FFacra e, f. 1. T20 feediol, 2024-9 & e (WCERICTA “FER fecefeee 2
(A) TR AT (B) Hife 2w
(C) wrifzre El (D) d7F (FTs T
11. EERA ICC T20 World Cup, 2024 319 R A€ TARR STmat Te-?
(A) IFER AT (B) <hm e
(C) HYe e (D) fomRf =mEt =1
11. Who won the best player award in the ICC Men’s T20 World Cup, 2024?
(A) Suryakumar Yadav (B) Travis Head
(C) Jasprit Bumrah (D) None of them
12. 2034 b9 Fel feslel 7% SePe 279 2
(A) =R B) (B =1
(C) <=l (D) E3ERT (FCACHIES T2
12. 2034 R RFl il (IR Spe 2¢q ?
A) o= (B) Nt o=
(C) el (D) @BRE @D T
12. 2034 T4 FIFA 9c2 M1 S99 ST ?
(A) A (B) e smfEn
(C) AT (D) SBRM THHET TS
12. Where will the 2034 FIFA World Cup be held?
(A) Spain (B) Saudi Arabia
(C) Canada (D) None of these
13. @ @ ‘Burt FNEe-6 (97, O¥.-6) TeRe FEfRs 2
(A) SR (B) @l
() oFe (D) B
13. SOOI 373e1-6 (93, @¥.-6) (FF O TGRe IR ?
(A) S (B) @M=
(C) ©Fe (D) B
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13.

13.

Standard Missile-6 (SM-6) @I &l &0 fagTamm ¢

(A)  ATHIGERT (B) STIH

(C) wrd (D) ==
Standard Missile-6 (SM—-6) was developed by which country?

(A) USA (B) Japan
(C) India (D) China

14.

14.

14.

14.

191, @9, “[Che1 (I TETIT 7l TR 90 0202 2

2G-S (A1 (PM-SURAJ Portal) (1] TS AR #1141 27 2
(A) & R e

) T R PRI *E TR
) TS T G< STREPT TFoT
D) o2 fofidl 43R <15 2fieae SEer

(B
(C
(

PM-SURAJ Portal 3T 98 Ministry S STeTISTal ¢

>

) Ministry of Rural Development

oy

Ministry of New and Renewable Energy

)
C) Ministry of Social Justice and Empowerment

P

) Ministry of Housing and Urban Affairs

PM-SURAJ Portal is implemented by which Ministry?
(A) The Ministry of Rural Development

(B) The Ministry of New and Renewable Energy

(C) The Ministry of Social Justice and Empowerment
(D) The Ministry of Housing and Urban Affairs

15.

15.

2024 B9 3. 9. &1, Afecifarere @I W@y @9 we FERe 2

A) wfeEs =« (B) f@m r=fer
(€) Tz P (D) W & 7=
2024 AR 2. 1. @@, AfeEfrer & ‘Siag I’ oS FEe ?

A) e > B) T @@=l
(C) fog B (D) €07E (T 7

OE|
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15. |R @ IPL, 2024 1 ‘Orange Cap’ @ S@EHN?

(A) At st (B) forre wiEeht

) Tt (D) foraRfy ome T
15. Which player won the Orange Cap in IPL, 2024?

(A) Abhishek Sharma (B) Virat Kohli

(C) Rinku Singh (D) None of them

16. 2025-2026% (I 443 IHG20(d (2 ACEHHI X oM F{ECZ 2

(A) s (B) amy [
(C) oo™ @ (D) e

16. (FI 4TS 2025-2026 A ALK ACSCO TACACE @ =3 4 T 2CCR 2
(A) ferse (B) 2 e
(C) SRS & (D) =ifez=r

16. 39 WK (Sector) 2025-2026  STieE SATgE Sife- STEF AT ¢
(A) drctiemg (B) Ty ST
(C) YT (D) Y@ty

16. Which sector has received the highest allocation in the Budget for 2025-2026?
(A) Education (B) Rural Development
(C) Indian Railways (D) Defence

17. SRS IS (AN IR T I 2

(a) focae fferg (B) T A

(C) SIS 2T =Tes] (D) To &b. TR
17. SRCSF I RG-S T2 (F 2

A) fead fifeg (B) TR AWA

(C) IR 2P <Tree| (D) T. @, TEF

17. 9RA a4 External Affairs Minister 3T 917

@) fr fifsg (B) YU3 JTed

(C) SWTd JehRTT HTET (D) To THo IR

17. Who is the current External Affairs Minister of India?
(A) Kiren Rijiju (B) Bhupender Yadav
(C) Jagat Prakash Nadda (D) Dr. S. Jaishankar
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18. Z-Morh % (TNl 3%)7 AT worq T [Reave 41

1. 3 Colfeet I 2<F5a bl o |
2. 65 km e S[RUCH] SY-FPAGE V9I001 S TR ST FTS FACR |
3. #F%OI National Highway Authority of India-3 SERLTS SC3 |

SEd (FIICO1/ (IR Tfe Al 2
A) FENE 1 2 (B) &g 1
(C) (TG 2 9= 3 (D) (PTG 2

18. Z-Morh % (GTANIef %)~ ey Teva Sfeafr Keavan F -
1. «fb corfeet Toe aacem GPh o |
2. 65 km 7Y b T G2 PIACTA AR G372 TS TP AYS PCACE |
3. #"b National Highway Authority of India-< OgK{ICIq Eicoicl

Tewa @ Tfe/Tfeafr Al 2
(A) @G 1 93R 2 (B) @G 1
(C) @G 2 €3k 3 (D) @G 2

18. Z-Morh ZHA (W' MHW T )& THIM A e foefomt Tism & :
1. 99 SN THA SSideH JE S|
2. 65 o fiio TiaE & THET SH TR IS TAMAR TR & AME SAHIE! BHETSTE] |
3. w9 Yoided! HHAIEl Y ged AU 31 gfam)

TSt g e forefer/ fesformm 67
(A) 13 2 3T (B) 1
(C) 2 3 3 (D) 2 3Tt

18. Consider the following statements regarding the Z-Morh Tunnel (Sonamarg Tunnel) :
1. It is a part of Zojila Tunnel Project.

2. The 6'5km long tunnel connects Gagangir and Sonamarg region in Jammu and
Kashmir.

3. The project comes under the supervision of the National Highways Authority of India.
Which of the statements given above is/are correct?

(A) 1 and 2 only (B) 1 only

(C) 2 and 3 only (D) 2 only

OE|
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19. ©OF AW Q. I3, (Al) 99 FL ?

(A) FeRPTSl (B) =CH!

© & (D) CIHLF
19. SRCSA A 9. H3. (Al) T5- GG ?

(A)  FeTPrl (B) =

() fran (D) el
19. e &1 YRaH fif Al =17

(A)  oheTehrdl (B) @3

© feef (D) ST
19. Which of the following is the first Al city in India?

(A) Kolkata (B) Lucknow

(C) Delhi (D) Bengaluru

20. ‘G3I7[EE0+" (Copilot+) I4ToM, T'© Al-2{f&q @@l S+ ‘FFel (Recall) I9%R IRA T,
(FICH! 2R(& e Fsfee 2

(A)  GFRFICAD (B) «cos
(C) 9oE (D) 2@ 5

20. (M e @A Q. wE (AD)-CHe SRSl 93RO 7FERH (Recall) AFERS
‘I#ii2eTb+" (Copilot+) F{THF bl BCACZ ?

(A) SIETFICI0 (B) 0ICoe
(C) @Td (D) ECFPTREL
20. ‘Copilot+’ ISR, SE Al-HTES Teist g7 Recall’ TR @19 &, SET 6 HPATHAT SHTIGI ¢
(A) TSTETEE (B) M
(C) TR (D) gk ww

20. Which tech company has launched ‘Copilot+’ PCs with Al-enhanced functionality and
a unique ‘Recall’ feature?

(A) Alphabet (B) Apple
(C) Acer (D) Microsoft
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21. 1289 T 19 fF T[eToF FRAN (5] FIECE 2 GB1 “Jefqef 4y 279 2

A) 1 (B) 7 (C) 13 (D) 16
21. 1289-97 c5t Flwa (I TR @9l Face @ft @fo 7jofef 722 =7 2

@A) 1 (B) 7 (C) 13 (D) 16
21. 1289 S °1 gARH SFHNHI ISTElsAl WY 3179 a1 ST 7

A) 1 (B) 7 (C) 13 (D) 16

21. What is the minimum number to be added to 1289 so that it becomes a perfect square?
A 1 B) 7 (C) 13 (D) 16

22. 95 TBRTT BN OF THOR T FCW 5 cm OF 3 cm. ANIRGCHR Fifel Tfere |

(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

22. 3 AR R €32 T T 5 cm R 3 cm. NSRS CFazeal ol e |
(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

22. HY ferTesams g T Sies Mt ®id 5 cm 3R 3 cm. st wif g |
(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

22. The base and height of a parallelogram are 5 cm and 3 cm respectively. Find the area of
the parallelogram.

(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

23. T2[ 10% e TSI R[S (FICT o141 fF1 T2 73 279 2

(A) 2 T=T© (B) 5 JzT®
(C) 10 =J9 (D) 20 =9
23. AMF 10% FE F0A BCH (FICT GF Jore] F© T2 7890 2 2
(A) 2 9=I (B) S 9=E
(C) 10 3= (D) 20 I=F
23. FERE 10% TR e gRa Wiy fiifs SrgT S8 S|Rra B ST ?
(A) 2 TS (B) 5 IHNE
(C) 10 SR (D) 20 sERE
23. In how many years will a sum of money be doubled itself at a simple interest of 10% p.a.?
(A) 2 years (B) 5 years
(C) 10 years (D) 20 years

OE|
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24. ASF B @ IAGCH 10,000 55 = 6,400 551 @ @b SRimi«t 37 =« Ffacet | 5 W2d e A @
3,000 53 TIR ¢ WF B (@ (999 X F9MS |F 600 5 @6l e | B @ e w¥ma Buieel
AME ST 10% (T 1261071 3 T | G2 99 2 oM® 16,000 51 2'¢a1 BT Ao Koo 2737 2

(A) 6,480 51 (B) 7,920 51
(C) 8,080 Gl (D) «3CERT b8 27
24. A ¢ B TG 10,000 BFl 932 6,400 B W@ @F% IR 07 WE F@ | 5 NOF 9 A

3,000 B 971 W @32 B fcem [fvcanfes Srce sica 600 5 @or wca | B Afew sAmE Beia
JIF FACST 10% @ F2OIE M7 | @F IR 27 (B S 16,000 BRF! 2F B-9F T F© 204 ?

(A) 6,480 B (B) 7,920 Gl
(C) 8,080 B (D) «ufom «Ffoe T

24. A IR B 31 %I 10,000 T AR 6,400 T M HHE STEEINEIR AR SATESHAE | 5 SFH 39
A 3T 3,000 T I@HET AEE AR B 3 TEH FEFNSH AR 600 T ISEE@ | B 311 AEgam S@rmRi

TR IR GAFRIH 10% FHEF Hat HFar | SRaH 399 T8 Jars=n 16,000 T Swsal, B
AT ST SO ST

(A) 6,480 T (B) 7,920 T
(C) 8,080 T (D) SBRE HEET T

24. A and B started a partnership business investing ¥ 10,000 and ¥ 6,400 respectively. After
5 months, A withdrew ¥ 3,000 and B added ¥ 600 to their investment. Being active partner,
B gets 10% of the annual profit as salary. If the profit at the end of one year is ¥ 16,000,
the share of profit of B will be

(A) ¥6,480 (B) 7,920

(C) ¥8,080 (D) None of these

25, W foefg 41 -

AN
a B % © 7 o) -7

25, W foefg S -

-3

11 11 17 17
(A) 5 (B) Yy (€ 5 (D) -y
g
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25. "M fog
()
3 3 9
11 11 17 17
A) — B) -— C) — D) -—
(A) 9 (B) 9 (©) 9 (D) 9
25. Find the value of
)
3 3 9
11 11 17 17
A) — B) -— C) — D) -—
(A) 9 (B) 9 (€) 9 (D) 9
26. TEF MRLICIHA T Tyl T
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
26. TGS Riscr T4= Fef S
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
26. TEAM SASHIGRM TSAT (Median) & :
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
26. Find the median of the following numbers :
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
27. 39l I2R 10% 5@ o0 100 5Fl 2 I299 9@ o 7R 27709l
A) 121 B (B) 221 Bl
(C) 11121 5=l (D) 12121 5=
27. 100 Bl 2 I AR 10% bargia B A4S 2@ (N6 Al Lo e 203
A) 121 B (B) 221 Rl
(C) 111-21 5= (D) 121-21 5=
27. IENE 10% TE 100 UM F9R 2 7 IREsm==™ a1 srme
(A) 121 T (B) 221 T
€ 111217 (D) 12121 T
27. The amount on compound interest of ¥ 100 for 2 years at the rate of 10% per annum is
A) T121 (B) ¥221
() T111-21 (D) ¥121-21

OE|
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28. IM p JAF gI AT, AF AAQ. IAFH r SF s 2, (B p, g r JNF s3I AALG. (2R
(p, g€ TS 1R4)

(A) pg B) qgr (C) sp (D) s

28. p R g9¥d AL, QR ALY, IEPE r QR s 2, p, g r R s GF ¢ALL. & (p,qem—rﬁ?ﬁ\-s
R4
(A) pg B) gr (C) sp (D) s

28. p AW gf o 3T Ho AW o Mo Ao 3T FIN r I s A, p,qr I s Fo 3o 30 377 =
ST (p, g € Tafsem smfsmT) ?
(A) pgq (B) ar (C) sp (D) s

28. If the HCF and LCM of p and g are r and s respectively, then the LCM of p, g r and s is
(p, g€ natural numbers)

(A) pg B) gr (C) sp (D) s

29. zr[ﬁx+l=7§§r, (3 x%%ﬂﬂﬂi’a
X X

(A) 49 (B) 40 (C) 42 (D) 47

20. W x+ - = 77, O x? + —-aF T 2
X X

(A) 49 (B) 40 (C) 42 (D) 47
29. I x+ L = 7 <R, s 2 +i2ﬁm:nsmﬁ=r
X X
(A) 49 (B) 40 (C) 42 (D) 47
29. If x+l =7, then x? +% is equal to
X X
(A) 49 (B) 40 (C) 42 (D) 47

80. 1 9 %[l 25 (o1 TP S FLICARE CTN9IFeT (207
(A) 325 (B) 200 (C) 169 (D) 89

30. 1 (AT 25 G NG YA MG (57T 29

(A) 325 (B) 200 (C) 169 (D) 89
30. 1 %™ 25 fom g™ S5 wift M ersTerTEET St
(A) 325 (B) 200 (C) 169 (D) 89

30. The sum of the odd consecutive numbers from 1 to 25 is
(A) 325 (B) 200 (C) 169 (D) 89
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31.

o] TfeTed (S e wm 7= 2

(A) fSTHT o (¥FTISIp) F1RYT1B. BT Freifa Yy |
(B) SIDISCF T FISIRF R 24 1.

(C) O @bl 7fef 77 |

(D) fSChl Freifa® 14518 @B1 A A4 |

31. oA Sfeghrm Wy (@ TSl wa w2
(A) @SB 3o (Tres) A4 G3f5 Frel A4 |
(B) “Fued Frelfdd e 2T 1.
(C) 0 9B 7jof iz |
(D) afefb Freifds Mzer2 @i o A4 |
31. TMEEH FEERM TS a9 FiE 16 T2
(A) TAHT S7 (Positive) Afsmmn fafspm smfsmm)
(B) Fafgs gafee ffdem smfsmmn 1.
(C) O 3T HHH 371 3R
(D) =g fafsem smfsmmen s/ s
31. Which one of the following statements is not true?
(A) Each even (positive) number is a natural number.
(B) The smallest natural number is 1.
(C) O is a whole number.
(D) Each natural number is an even number.
32. I @bl T &7 200 53 W AT (@202 10% =, (908 IBOR A 2A=CF 3 A9l o1 21 273
(A) 90 B (B) 190 5
(C) 80 Bl (D) 180 5
32. I s T/ WH 200 T =W G2 OF ToF 10% T ACH, OIRCE IEH [FCe (FOlF F© 7N e
209 ?
(A) 90 Bl (B) 190 B
(C) 80 B (D) 180 GBI
32. Jfd AFH o s#AT 200 T SR AR 10% ™ =1, JaT AW SR gH1 T S-S
(A) 90T (B) 1901
(C) 80T (D) 180T
32. If the price of an article is ¥ 200 and the rebate on it is 10%, then the customer has to pay

for this article
(A) ¥ 90 (B) ¥ 190
(C) ¥ 80 (D) ¥ 180

OE|
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33.

33.

33.

M 460 5 N 10 & 7[FF, 16 9[IF! Mo SF 20061 Fry7 e e ool 1 e, (908 20
CoIRT SReIq 2If=iel 277

(A) 10 Bl
20 o

16 o
(D) 46 ¥

(B)
(C)
M S 460 B 10 & 2N, 16 T qEE R 2016 frem s e el ol v 3, o
AT OIS F© GIFT SAPTCE ?

(A) 10 Bl (B) 16 B

20 Bl (D) 46 BIF

9fe it @1 10 a1 wEf, @ 16 e Amfa AR @ 20 T’ wEE 460 TE GEA AT RS,
HHEA ST fosmet S

(A)
(C)

©)

10T (B) 16T

20 1 (D) 46T

33. If we divide ¥ 460 among 10 men, 16 women and 20 children equally, then the share of
each one will be
(A) ¥ 10 (B) T 16
(C) ¥ 20 (D) ¥ 46
34. M 22t 14 =87y, (W@ xITT L]
(A) 1 (B) 2 € 3 (D) 4
34. 3 22**1 L4 = 837, OFCH x-9F T 3@
(A) 1 (B) 2 € 3 (D) 4
34. Sisam 22X*1 14 = 8 W, sl 17 AT SIHTA
(A) 1 (B) 2 € 3 (D) 4
34. If 22**! +4 = 8 then the value of x is
(A) 1 (B) 2 € 3 (D) 4
35. e (P! MfifeT Tfe s 2
9 3 5 3 7 5 3 9
A) ——>— B) —<-— € —<— D) —=—
40 20 8 4 6 6 7 28
35. A (@I afefes Tfelh wa 2
9 3 5 3 7 5 3 9
A) ——>— B) —<-— € —<— D) —=—
40 20 8 4 6 6 7 28
I
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35. MR e O "EETa fogftem om?
35. Which of the following mathematical statements is correct?
36. zﬁwﬁzﬂﬁmﬂﬁgwéwww 2’9, qfica

(A) a+b=c+d B) axb=cxd (C) axd=bxc D) a+d=b+c
36. ﬁmﬂawgegm@x@@m,qw

(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
36. ﬁﬁmmmﬁm%mgaﬂwwﬁq,w

(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
36. Two rational numbers % and g are equivalent if

(A) a+b=c+d B) axb=cxd (C) axd=bxc D) a+d=b+c

37.

37.

37.

37.

3 B fagem o Tafeq gae o Tafeq I 2x 36 =, (908 fqges Ffe 2'3
(A) 8x?2 3o 4T3 (B) 2x?2 35l @
(C) x2 3o @ (D) 4x2 3 955

W @3 fagees s ©iw Tafen g @) Tafen I 2x 9 27, ©r=ee fageivg CFawel 20q

(A) 8x2 35f @375 (B) 2x2 35f @35

(C) x? 3 «35 (D) 4x? 3 @35

Y ATETfoem g S Seme 3 A Seer st wer 2x Sl S, stee stranf-remmt
Hiferan ST

(A) 8x2 =i HFR (B) 2x? =i AR

(C) x? =t wrfs (D) 4x? =t wrfe

If the base of a triangle is twice its altitude and the altitude is 2x unit, then the area of the
triangle is
(A) 8x? sq. unit (B) 2x2 sq. unit

(©) x? sq. unit (D) 4x? sq. unit

38.

e (1 9B fages foftr a/eq (e 23 R 2
(A) 5 c=sfiz, 10 @iz, 6 (=afils (B) 14 (=sfe, 7 =efz, 8 (=afils
(©) 10 c=sfie, 20 czsfie, 8 (msfis (D) 30 czsfie, 20 @afis, 12 czsfie

OE|
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38. AIoa (I WIS (b fargees fonfs qreg M7 20 #ffed =11 2

(A) 5 orefig, 10 Giefig, 6 Gisfe (B) 14 ¢1afz, 7 orefiie, 8 Gisf¥e

(C) 10 ¢Tefz, 20 iefie, 8 Gisfe (D) 30 (Tefg, 20 GTefs, 12 Grefite
38. TMEEM Fe HHHAT WY ATET-ImH THA™ STranf-a s S gt

(A) 5 Wo fl\:[O, 10 Fo ﬁIIO, 6 Ho firo B) 14 To ﬁ-TO, 7 Wo firo, 8 Wo firo

(C) 10 Fo fHo, 20 Fo o, 8 Wo fHo (D) 30 To fHo, 20 Fo fHo, 12 Fo o
38. Which of the following cannot be the measures of three sides of a triangle?

(A) Scm, 10 cm, 6 cm (B) 14cm, 7cm, 8 cm

() 10 cm, 20 cm, 8 cm (D) 30 cm, 20 cm, 12 cm

39. ‘b1 GRF A TR @I 48,77 3 TFECH! 24FM FRF A1 ANFID! 37

(A) (x+)+(x+2) =48 B) x+(x+1)=48
(C) x+(x+2) =48 (D) (x-1D+(x-2) =48

39. ‘7t @i S AT orEE 27 48.” 42 TG Ava (I FANAC AP 2R ?
(A) (x+1)+(x+2 =48 (B) x+(x+1) =48
(C) x+(x+2) =48 (D) (x—-1+(x-2) =48

39. “‘HIFA IR SR AR arseerE 48, o fSEinet wRUEE g THRATEE STal
(A) (x+1)+(x+2 =48 (B) x+(x+1) =48
(C) x+(x+2) =48 (D) (x-1)+(x-2) =48

39. “The sum of two consecutive odd numbers is 48.” This statement can be expressed in
equation as

(A) (x+D)+(x+2) =48 B) x+(x+1)=48
(C) x+(x+2) =48 D) x-)+(x—-2)=48

40. x-I[F OF y+2 =0 (TR & 79 fF1 2
A) 2 9% (B) 3 @F%
C) 4 <= D) 1 9=

40. x-F @R y+2 =0 0T T 7g F© ?

A) 2 9 B) 3 9
C) 4 9= (D) 1 9=
40. x-f9’ I y+2 = 0 T@H ToRA AHATE FH=T?
(A) 2 "mTfe (B) 3 HMIR
(C) 4 &mTfe (D) 1 |FIR
40. What is the distance between the x-axis and the line y+2=07?
(A) 2 units (B) 3 units
(C) 4 units (D) 1 unit
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41. Choose the correct option to fill in the blank in the following sentence :

“Can you tell me the truth?”
(A) why did you not speak (B) that why did you not speak
(C) why did not you speak (D) why you did not speak

42. Choose the correct option to fill in the blank in the following sentence :

“The train before we reached the station.”
(A) had left (B) left
(C) has left (D) was going to leave

43. Choose the correct article to fill in the blank in the following sentence :

“He is MA in English.”
A) a (B) an
(C) the (D) No article is needed

44. Choose the correct question tag to complete the following sentence :

»

“She is going there,
(A) isn’t she? (B) is she?

(C) doesn’t she? (D) isn’t it?

45. Find the incorrectly spelt word.

(A) Conductor (B) Conductance

(C) Condusive (D) Confusing

46. Choose the correct option to fill in the blank in the following sentence :

“When I met Rajat in Mumbai, he teaching English for four years.”
(A) is been (B) has been
(C) have been (D) had been

47. Fill in the blank of the following sentence with correct option :

“Assam has tremendous potential investors in service sector.”
(A) of (B) in
(C) at (D) for

OE|
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48. Choose the correct passive form of the following sentence :

“She is writing a letter.”

(A) A letter is written by her. (B) A letter has been written by her.

(C) A letter is being written by her. (D) A letter is writing by her.

49. Choose the correct option to fill in the blank in the following sentence :

“She is than any other girl in the class.”
(A) tall (B) the tallest
(C) more tall (D) taller

50. Choose the correct indirect speech of the following :
She said, “I have finished the work.”

(A) She said that she has finished the work.
(B) She said that she would finish the work.
(C) She said that she finished the work.

(D) She said that she had finished the work.

51. Choose the correct option to fill in the blank in the following sentence :

“l asked him so lazy.”
(A) that is why (B) why he was
(C) that why he is (D) that why is he

52. Choose the correct option to fill in the blank in the following sentence :

“He always claims to be everyone in his company.”

(A) superior than (B) superior to

(C) superiority over (D) Al of these

53. Which of the following is incorrect ?

(A) A swarm of monkeys (B) A caravan of camels

(C) A pack of wolves (D) A colony of rats
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54.

Which of the following words is closest in meaning to the word ‘abundant’ ?
(A) Scarce (B) Difficult
(C) Barren (D) Ample

55.

The phrase ‘stem the tide’ means
(A) save (B) stop
(C) touch (D) spare

56.

The antonym of the word ‘callous’ is
(A) casual (B) sensitive
(C) soulless (D) strict

57. Choose the odd word from the following.
(A) Agitated (B) Aggressive
(C) Rowdy (D) Submissive
58. “O my Luve’s like a red, red rose” is an example of a
(A) simile (B) metaphor
(C) metonymy (D) personification
59. What is the meaning of ‘cost an arm and leg’?
(A) Very expensive (B) War damages
(C) Total destruction (D) Medical surgery

60.

Choose the correct option to fill in the blank in the following sentence :
“He was so hungry that he could wait to wash his hands.”

(A) rarely (B) often

(C) seldom (D) hardly

CcwT-2025/P-11/ 302-A 25
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61. oF PR 2[1 (2] oI AR Sferea :

6 4 5
(A) 18 (B) 46 (C) 80 (D) 70
61. =s DAl (A ey sl Feiva s
6 4 5
(A) 18 (B) 46 (C) 80 (D) 70

61. THE AEMRERN NSHE™ MHERE SHfSHE g’

6 4 5
SAIQ 6A3 7A2

A) 18 (B) 46 (C) 80 (D) 70

61. Select the missing number in the given diagrams :

6 4 5
SAIQ 6ﬁ3 7A2

A) 18 (B) 46 (C) 80 (D) 70

62. IM2x3x4 =432, 5x6x7 =765 7Xx8x9 =987, ((B2Xx5x7="?
(A) 572 (B) 752 (C) 725 (D) 257

62. M 2x3x4 =432 5x6x7=765 7Tx8x9 =987, OR(FA2x5X7 =72

(A) 572 (B) 752 (C) 725 (D) 257
62. ﬂ%2x3x4:432,5><6><7:765,7><8><9:987,3:|®_v|'r2><5><7:?

(A) 572 (B) 752 (C) 725 (D) 257

62. If 2x3x4 =432, SXx6X7=765 7Tx8x9=987, then 2x5x7="7?
(A) 572 (B) 752 (C) 725 (D) 257
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63. @1 912 7 ¥
¢c E G I
6’ 100 14 18’
P K K
A) — B) — c) — D) —
()22 ()20 ()21 ()22
63. XE 7 T :
¢c E G I
6 100 14 18 —
P K K
A) — B) — C) — D) —
()22 ()20 ()21 ()22
63. &l ST 377g W™
¢c E G I
6’ 100 14 18’
P K K
A) — B) — C) — D) —
()22 ()20 ()21 ()22
63. Fill in the blank :
¢c E G I
6’ 100 14 18’
P K K
A) — B) — C) — D) —
()22 ()20 ()21 ()22
64. <l o1 7 41 :
_ XX_YX_YY_ XY XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
64. *FE 7 T
_ XX_YX_YY_ XY XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
64. TGN ST 31g @I :
_XX_YX_YY_ XY XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
64. Fill in the blanks :
_ XX_YX_YY_ XY XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
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65.

65.

65.

65.

ﬂ@ﬁ"ﬁ“lw:

Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory
HTE 7ol A

Doctor : Hospital : : Teacher :
(A) School (B) Field (C) Industry (D) Laboratory
TG STRAT 377g, @I

Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

Fill in the blank :
Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

66.

66.

66.

66.

Ifr 5789 MRANGE AFS GKPT 2 IF 2436 RN ALFS ALUR T, (SC3F 24539 FRAOH
I]Fe 527972

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

Tfr 5789 WAMMHI AFe GKPT T @R 2436 RN MFe ALUR =W, ©E=C 24539 MRAGI
(TS F 2CA?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT
Sfe 5789 ANHRET GKPT i @he SR 3 2436 WERMRET ALUR [ e SR, 311 24539
AfSHET 914 Gehe SE?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

If in a certain code 5789 is written as GKPT and 2436 is written as ALUR, how will 24539
be written in that code?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

67.

67.

7, SIS =R AR 41, ACT T IR Wa 2
6%4 %915
(A) - X, = (B) X, = = (C) = X, - (D) - =, X

M7 oNfifes Bzl fF-mT S, e ave TFab wa 21
6%4%9%15
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67. & TR fRfFREwE e’ SR et JeegsT 6 S

6%4%9x15
(A) - X, = (B) X, = = (C) (D) - =, X
67. Select the correct mathematical signs to balance the given expression :
6%4%9x15
(A) - X, = (B) X, = = (C) (D) - =, X
68. oTq OEChI “[1 (21 FRIYICH MR Sferea
A 2 B) 11 () (D) 18
68. zwe foab (e Ree 7RI F=oa e
A 2 B) 11 ©) (D) 18
68. TH TENAE MM ARG 9=@
A 2 B) 11 ©) (D) 18
68. Select the missing number in the given diagram :
A 2 B) 11 () (D) 18
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69. I POLICE ¥ QOMIDE f25I(3 o141 23, (9¢8 DACOIT F [ =263 fifq afod
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT
69. I POLICE-¢d JFS 21 QOMIDE, ©(d DACOIT-43 F(FS 24
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT
69. ¢ POLICE ®' QOMIDE % &Il ®RHF, 3Tedl DACOIT @l 9& & Sl HIRHTIHI ¢
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT
69. If POLICE is coded as QOMIDE, then DACOIT will be coded as
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT
70. 9% TR PO WfFe SS O T TS (@91 ACCH ST& F91 =, (908 7JYICO] (FCwCa P
3’97
@ S| ® |8 | © |2 | D) |
70. 935 T oS WiwS SS foce fge @4ice wre Facet wergael S oa ea [eE 2

w S| ® (8 © |2 D) |
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70. TSIH AT faeedt faf wremian gras oFsa, S SrEEE e S

70.

r|S'S

(B)

SS

is drawn on a transparent sheet and folded on the dotted line, then what would

be the resulting figure?

@ S

(B)

8

e

71.

71.

71.

71.

TR T 21 10 TS UG 2 Wi Tl glo7 Frme Ko 4 qere ©iR Ace creTe st 5 | 9

ACRATS TOIF G FIOTOICE B A (@19 ST 3¢ 2

(A) 60°

(B)

120°

(©)

180°

135°

T R T 10 qeR oS 21 9 [wer 3o v [ 4 wiher of AeiEm @ief e
A | G2 IR W B Pl T Ol gee 2

(A) 60°

T Tpas 10 fomsma S SR et e o senfaf

(B)

120°

TSI Tuere et o9 feft fifeei?

(A) 60°

(B)

120°

©)

180°

(©)

180°

135°

4 TameTa gHiEEE didiedl| § g9

135°

Ramya’s school starts at 10 o’clock in the morning, and after school she attends swimming
course at 4 o’clock in the afternoon. By how much degree does the hour hand move during

this time?

(A) 60°

(B)

120°

(€

180°

135°
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72.

72.

72.

72.

«ﬂﬁﬂw@ﬁaﬁﬁﬁﬁﬁiﬁ*ﬁﬁ—ﬁmmlww—@@wMﬁﬂ%—’m—ﬁw\’mw ferefa

@ @ @

A) 1 (B) 3 C) 6 (D) 5

gl T[ueba foaf ffen ficea b mrewl 2@ | o) (s [osbia 4-9a [7[@re 2 § 5k o,
ferefar AT

@ @ @

@A) 1 (B) 3 €) 6 (D) 5

s ST R T T R e e | AT sty 4 ve B W i § R
&

Three positions of a dice are given. Find out which number is found opposite to the number
4 in the given dice :

@ @ @

@A) 1 (B) 3 (C) 6 (D) 5

€ 6 (D) 5

73.

73.

oS Wl o A0 SRS S4ECRen] AR St
ABC : UVW :: DEF :

(A) XYZ (B) MNP (C) POR (D) GHR

e o S Toge e asfel v e
ABC : UVW :: DEF :

A) XYZ (B) MNP (C) POR (D) GHR
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73. TREE THH HHEFRGRM ATE™ STRSTAE SRabRE! 9o =1 g
ABC : UVW :: DEF :

A) XYZ (B) MNP (C) POR (D) GHR

73. Select the related letters from the following :
ABC : UVW :: DEF :

A) XYZ (B) MNP (C) POR (D) GHR

74. oo Tl FOAERT 2[1 (@F AT AR Tfore :

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

74. @7s Pagl (A [y Sl (@R @@

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

74, TE AR TSRAGE THEE FHE! a=d’

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

74. Select the missing number in the given diagrams :

225 49 121

OE|
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75.

TER NRUECBR 2RI 312 TURE TR Kb Tferea
8, 24, 12, ?, 18, 54

(A) 18 (B) 36 (C) 46 (D) 38
75. FREEIRS 4ebre e (?) 2o ToRye MR os (@9 FAl -
8, 24, 12, ?, 18, 54
(A) 18 B) 36 (C) 46 (D) 38
75. TERTE BFR BIETE MHEE SARSHE 9o’
8, 24, 12, ?, 18, 54
(A) 18 (B) 36 (C) 46 (D) 38
75. In the following series, select the missing number :
8, 24, 12, ?, 18, 54
(A) 18 (B) 36 (C) 46 (D) 38
76. ARG T S (2 SR ?
(A) S (B) 4 € 3 (D) 2
76. FOBMR I S 2T HICL ?
A) S (B) 4 € 3 (D) 2
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76.

HA S9aT w1 R S §7

VRS (B) 4 € 3 (D) 2
76. How many cubes are unseen?
A) 5 (B) 4 € 3 (D) 2
77. TF ARLEGNR AAEIF 520 SRS AN [of Ty
99, 102; 51,54; 27,30; ?,?
(A) 12, 15 (B) 15, 18 (¢) 10, 13 (D) 18, 21
77. FRRRS 2419 2PIEe B TR MRSl {08 (@9 FCA -
99, 102; 51,54; 27,30; ?,?
(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
77. TEATE AW GIEE GHET T SHSE S T 9
99, 102; 51,54; 27,30; ?,?
(A) 12, 15 (B) 15, 18 (¢) 10, 13 (D) 18, 21
77. In the following series, select the related number pair :
99, 102; 51,54; 27,30; ?,?
(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
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78. &9 @R Ne[ W Baco! a1z Sferea |

() (B) A © ‘ (D)
78. o Foaeler wo f[iefe o foafs @z e |
‘A) ‘ w A © ‘ .
78. TEAM AEMRHRE TSR TR wmermiE dem 71 g |
A) ‘ (B) A (©) ‘ (D)
78. Find the odd figure from the following.
(A) ‘ (B) A © ‘ (D)
79. oS )l foepiaa “[1 (2Fa1 AT 1R Tfere
(A) 125 (B) 175 (C) 225 (D) 150
79. e foasf (e e =i @ @@ @
(A) 125 (B) 175 (C) 225 (D) 150

g

cwT-2025/P-11/ 302-A 36 =



79.

79.

BFT HETRERA TSRHE™ THHERE sEEE g

(B) 175

(&

(

C) 225

Select the missing number in the given diagrams :

(B

) 175

(

C) 225

(D) 150

(D) 150

80.

80.

80.

80.

word FoacaRe e e foacot iz Tferea -

(&)

o

L

(B)

]

(@] B:IO

oo el Te Joafs 2 Bals @ e -

(&)

o

L

(B)

]

(©) B:IO

TR AR FSfHwR TRifS dremet g = e

A)

o

L

(B)

]

(©) B:IO

Find the odd figure from the following :

(&)

o

AL

(B)

]

(C) B:.o

(D)
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81. SPINS (ST TR (I AMPPHRY (20

(A) o (B) 2

(C) == (D) TG
81. SPICNR 24 TRofre «MPT 2¢al

(A) A (B) oI

(€) TE (D) “Ib
81. 3MEME SITHA g™ wEa ST&i

(&) = ®) fig

(C) weg (D) I
81. The staple food crop of Assam is

(A) rice (B) wheat

(C) pulses (D) jute
82. TN A TS

(A) D “T2Re (B) fo@me “n2<e

(C) lFD “r2re® (D) 93CART «Ble T2
82. ‘BN A ST

(A) STITosT “I121ce (B) fo@me #rzicy

(C) wf43H =T (D) «@gfeR e T
82. THWTEAT =X UM TS el

A) Fremea gs (B) Ffrmae g

(C) wfirga g (D) SR HEET T
82. The Kamakhya Temple is situated at

(A) Nilachal Hills (B) Chitrachal Hills

(C) Manikuta Hills

None of these

83.

83.

IR EEAHE ISR FlrS (Fle] e 2

(A) wERS P2

(C) “Fwa Pz

IR AGRR R Fofwe (P =2eer 2
(A) wRES Picg

(C) ™= iz

CcwT-2025/P-11/ 302-A
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83.

83.

JTTEH TSHICL SeT Fariear HILAH ?

INBEREERTH (B) e fow

(C) = foe (D) wwa fig

Who was the last Swargadeo of Ahom Dynasty?

(A) Jayadhwaj Singha (B) Chakradhwaj Singha
(C) Purandar Singha (D) Pramatta Singha

84.

84.

84.

84.

‘T (T I e Tt T4 (afew 2

() STl $E (B) FCoPsdl F<aIa

(C) w5l FaI9 (D) <A M2

(A) RSl R (B) FcoPsdl

(C) i Faal (D) AN a2fafre

T A @ G SEEE

(A) SEmfd Fart mErEiEE (B) PoraR Falki mEmEitEE
(C) AfereRt Fafthr merEEmE (D) TR e TR
Joy Daul’ was built in the memory of

(A) Joymoti Kunwari (B) Phuleswari Kunwari
(C) Ambika Kunwari (D) Rani Gaidinliu

85.

85.

85.

85.

RIS R @ & 9% Sreme ave 7=y 2
(4) e (B) =z
(C) <=E (D) wRshe

fca Sfefe (wePRces (S (e I91<6 TorereR| S[iEe «F 2

(a) el (B) 2Tl
(C) JI=R (D) wHene
MR o« HHEET ek g fSferr =1?

(A) g (B) ETEeThIf=
(C) BN (D) wfama

Which of the following is not a district of Barak Valley?
(A) Shribhumi (B) Hailakandi
(C) Cachar (D) Morigaon
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86. ARG (P14 IS FolCne FUHRR TS TN A[ETS TFYES FAR ?
(A) e T (B) Tour=-F=iat %y
(C) TFe qUey (D) «3CART b8 =7

86. fica Tfefe (@ Ao (1 “RfE Foftre FUPIREER BFI W2 AR TEOS 22T 2

(A) @ A (B) femi-sm=fd qrem

(C) el Arey (D) zf™ «Fos T
86. M =& UG Toied T5fedT 3TTeH Tgsiisl GLSTEamN 7

(A) FHaT TSI (B) fewran-sra TSt

(C) et TSl (D) SHRF Hi@E T2

86. Which of the following Kingdoms was finally annexed into the Ahom Kingdom by Swargadeo
Rudra Singha?

(A) Kamata Kingdom (B) Dimasa-Kachari Kingdom
(C) Dafala Kingdom (D) None of these

87. SPTIE TSI NG YL@ (Pl SIfee 2

(A) CRMI G B2 (B) CoSl FAE
(C) T Toeife (D) =gl e
87. PTG 22N WRel JUNE (F RCe 2
(A) CRM SCARIR COq (B) ool FoEII
(C) =R sTefe (D) T2l Fhe
87. ram Fifafe smes fifs wfmn wram?
(A) TIET ITHART TP (B) goal FUTAH
(C) A weafa (D) HEgs gl
87. Who was the first lady Chief Minister of Assam?
(A) Syeda Anwara Taimur (B) Sucheta Kripalani
(C) Nandini Satpathy (D) Mehbooba Mulfti

88. F IEGHTS Bb1 AIF HoI-5o el IR 4 999’ q 2[Af(fiel T 2t 2

A) e TwEe Higg (B) Fsfwe 7w Bz
(©) Fofwe amig Pz (D) Fofwe zrre Pirg
88. T ACGHICE Bb IR eI el T2 T TR-¥ 2l 2 feE 2
(A) ol TR Pz (B) Fofms 77va iz
(C) eftms s Pz (D) sftms ziwe Pz
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88. URH G THIE ! 3T IR WS JIHaT STaraH ?

(A) Tl Saeas T (B) T@iea ge fog
(C) Taied TeR T (D) Tiea T« T
88. During whose reign was the Rang Ghar reconstructed using bricks and mortar?
(A) Swargadeo Jayadhwaj Singha (B) Swargadeo Purandar Singha
(C) Swargadeo Gadadhar Singha (D) Swargadeo Pramatta Singha

89. ‘TPTY IR HE (FozR AMFI (FH F© TS ?

(A) Ta e, waaf (B) et fufz: &1, Haetem
(C) W e, fefpfe (D) R e, wfHaire
89. ‘TP PRIRR G FRR ARFFT (F% (T SRES ?
(A) %R e, saEf (B) ~iife ffeg o1, Mt
(©) TR e, femppfemn (D) Re e, TRefie
89. ‘ATE FAh AR a1 & 23 Amer = Folma g7
(A) fem fora, TaTerfe (B) uit f&fe forer, formramm
(C) wmIR fore, famgferan (D) = fora, mfema
89. Where is the ‘Assam Kayaking and Canoeing Training Centre’ located?
(A) Deepor Beel, Guwahati (B) Pani Dihing Beel, Sivasagar
(C) Maguri Beel, Tinsukia (D) Charan Beel, Morigaon

90. SPF ““[fed 2ol FRIRWIIeTH 4o ' wEiE® 2

(A) woms (B) (rwaie

(C) 7 (D) fesrta
90. =PTCRR “7fferl eif¥re TR’ (AT SRS ?

(A) Toie (B) ¢S

(©) 7 (D) feor
90. JEMH ‘GfeTd BRI HUFHTCHT AT H=IS &7

(A) wmE (B) IWmE

© 3 (D) fem
90. Where is the ‘Police Training College’ in Assam located?

(A) Nagaon (B) Dergaon

(C) Dudhnoi (D) Digboi
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91. ‘oI ISR T TETS 2
A) T, =P (B) (955, =i
(C) ST, VG (D) =’f21, walcere
91. ‘oA SR b (IR SAZS 2
A) &g, =P (B) b, Pife
(C) T, BTG (D) I, TeETe
91. “TRUYM ITAST T Hi=TE €7
A) feg, smam (B) Tiesh, faferm
(C) JArTE, TsRIE (D) higHI, MU
91. Where is the ‘Garampani Sanctuary’ located?
(A) Diphu, Assam (B) Gangtok, Sikkim
(C) Junagadh, Gujarat (D) Kohima, Nagaland
92. I IETITS Dl 7S BT BlCe FIh7 Tl FRe ?
(A) et (B) &
(C) eI (D) ©IERIe
92. TR ACTIICE DRI ~RATGS RS e FHA DA GCMRCE 2
(A) efea (B) e
(C) Wl (D) ©rEIe
92. AR TS A wura o e 73 |1eT wmEy qEaEhaH ¢
@A) yfdeda (B) ESiaHA
(C) Ycomaret (D) ITERRETA
92. During whose reign did the Chinese pilgrim Hiuen Tsang visit Kamarupa?
(A) Bhutivarman (B) Harjaravarman
(C) Ratnapala (D) Bhaskaravarman
93. Asian Development Bank-¢ SPIS «[€Facda) *feq o I I e Rkl e 99 @
CTRSRICS R ~ARIR 4ol Seae FIRCR ?
(A) 432-25 NER e[ (B) 430-25 NER™ waI™
(C) 443-25 NFERE e[ (D) 434-25 NERM eI
93. GFRIF (TCSHPICAG AR TS SPTH ACSH F<PIEICI9) ¥ el e IR ¥ FRierel Tre Fce
F© AR 4 STCA FCICR ?
(A) 432-25 et wers (B) 430-25 et wers
(C) 44325 fNfer werm (D) 434-25 ffer worm
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93. 3T TETET HIeHSTE Med! SeFl A el W el et form ufae geai=e s s

RESEIERICIDIRSCK
(A) 432-25 Tufem s (B) 430-25 fufem stames
(C) 443-25 Tafem @ (D) 434-25 Tafem @

93. The Asian Development Bank recently approved what amount of loan to increase renewable
energy capacity and improve energy security in the State of Assam?

(A) $ 432:25 million (B) $ 43025 million
(C) $ 443-25 million (D) $ 43425 million

94, 1942 B9 ‘S N9 S $oq (PTG FIb WAl CafRe 2

(A) T (RRA (B) Sia™ v
(©) PR g (D) T T
94. 1942-93 ‘TS YT AT -« WA (FITSCE FIOT (TS FCAMRE 2
(A) ONE @GR (B) SloRIN creq
(©) Prfe g (D) T IR
94, 1942 ARYEM ‘RA TR THEERAT 3T TR TR Qo I 2Fr ST
(A) THER iR (B) HMRM &=
(©) foafer b (D) FHA FlaR
94. Who among the following was hanged in the ‘Quit India Movement’ of 19427
(A) Gomdhar Konwar (B) Maniram Dewan
(C) Piyoli Phukan (D) Kushal Konwar

95. SPTNY IS (I T (P9 SIBEIGA ST WCR ?
(A) SO S FILEC (B) SO S IR
(C) IETC| S RIS (D) RIS < Bl

95. PTG AR (P 6 (weeR SIBeAER SN qCACR ?

(A) TOW @ e (B) SO 8 TR
(C) IENT & TR (D) TRFHE S B
95. SEMS &« T4 gaTEl BTet ISR fmr g7
(A) T IR e (B) M 3T AR
(C) WMARY R BIFHR (D) ®FER AW =
95. Assam has international boundary with which two countries?
(A) Bhutan and Bangladesh (B) Bhutan and Myanmar
(C) Bangladesh and Myanmar (D) Myanmar and China
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96. T[ATT J2EN F1l-al7[Cb] TS (F2
A) ReEEe (B) “If*oaaere
(C) Tfame (D) =PI

96. SRS J2H w-alb TES

A) = (B) I
(C) SfEm (D) =PI

96. WRAM TRH a1 feam 3
(A) forrra (B) @HTE T AT
(C) ShEmEE (D) AEETE

96. The largest river island in India is situated in
(A) Bihar (B) West Bengal
(C) Odisha (D) Assam

97. P GG TSRO (27

(A) wIFRATS) TS (B) IR TR

(C) (TR TS (D) COTBTISI7E TeTefy
97. PN GG Wb 2cel

(A) WSy TRt (B) I reTg

(C) g qreTef (D) =G TreTe
97. IEMM AT ST STal

(A) e SR (B) el S

(C) HeTer ST (D) AT SRA
97. The only plateau in Assam is

(A) Deccan Plateau (B) Karbi Plateau

(C) Meghalaya Plateau (D) Chota Nagpur Plateau

98. fRiqfwr wife=a ‘FIfRHI-2-2fM" o (P! To ST AT @7y TT 2

(A) *RIRRE6 T& (B) TGRS Al
(C) TR I ST (D) CIRTSR [carE
98. PR wiferea FfA-2-2EA" Meva (I Tol & KA 9% gwge]f Tt 2
(A) >R T (B) TS I
(C) F SR S (D) GIRNRR Ricwr=
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98. fagigfen aferaf “wrfern-3-3fsen’ s meEf o« stumEE WitmmEf omam T g

(A) IREERM gEE (B) TEEH TRIF
(C) HRIWATH I (D) waMTE fmRARmEEE
98. Fathiyyah-i-Ibriyyah of Shihab-ud-din Talish is an important source to know about
(A) the Battle of Saraighat (B) the Treaty of Yandaboo
(C) Mir Jumla’s Expedition (D) Moamoria Rebellion

99. WoT® AT (FIFCH! PR TAIeT 5 B3 2

(A) (9 IF ARFFeF (912 (B) =5
(C) Fewfreerf (D) FRPR
99. ffere (@ SIPICTE SfAifen 24w &8 2
(A) (TF GR AFHeP T (B) o
(©) fersfierere (D) RIS
99. MMM TETI ETE Gi-2=m A?
(A) ora A fafommfs (B) I@MEEE™ (Tourism)
(©) ﬁ@% (Manufacturing) (D) 3ATETE

99. Which of the following is the main pillar of Assam’s economy?
(A) Oil and Natural Gas (B) Tourism
(C) Manufacturing (D) Agriculture

100. (T 5@ TPTHE 59 (0o (LRI TARITTS o1 91 C2feed 2
(A) 1919 (B) 1999
(C) 1991 (D) 1989

100. IRISICS ST B9 (el CNILAISIIEIG (I ATCeT Ble] w1 2cafRe 2

(A) 1919 (B) 1999
(C) 1991 (D) 1989
100. 3TEMH S oma TETEcE! T6 AT JHICTRIE TR ?
(A) 1919 (B) 1999
(C) 1991 (D) 1989

100. In which year was the fourth oil refinery of Assam started at Numaligarh?
(A) 1919 (B) 1999
(C) 1991 (D) 1989
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